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1. RotrpR wore s TeT fan 1x8=8

Answer the following as directed :

(@) 32 T (FFS QWG @ =7 |

The Engel curve for an inferior good ‘

(i) Fmen

slopes downward

(ii) THEIM

slopes upward
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(2)

TS

(iii) ST
is a horizontal line
(V) S°R[I qhre oy
None of the above

(w% TeICh! AR ferea)

(Choose the correct answer)

(b) = ToerER SRl WS T TS
|

A consumer is in equilibrium when

AR B
y Py
i) %2ty 7 Bl
y Py
) el
y Py

(iv) S° T
All of the above

(wm a1 A1fR Sferea)

(Choose the correct answer)
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@

(e)
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(3)

AT AW @Y TS T @IS FoFH A
INTS TS I "
The marginal cost curve intersects the
average cost curve, when AC is
(i) i
maximum
(ij) >
minimum
(ifi) SN
rising -
(iv) RS
falling
(= Tech 1R Sfenean)
(Choose the correct answer)
‘R a1z e & oo

What do you mean by ‘ridge line”?

3 751 ol o RE| 73 =7, (ocs SHbeAAms
QHreE A |

(R 372 =7 1)
If two factors are perfect substitutes, the
isoquant line will be _____.

(Fill in the blank)
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(h)
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Market price jgsa ___ price.

(i) TR
long-run

(i) ZFeS
short-ryn

(@) =S ZymSi
very short-run

(o7 TeI01 AR Tferean)

(Choose the correct answer)

QI AR v NFES (@7 ToRT
S =& T | (% 7 SR fr)

In the long-run, a firm under perfect
competition can earn only normal profit.

(Write True or False)

7 ReehRRe sewee 27, M2 937 i
AP (o€ Teoqfrs TAGR W RIS
Rien Iore Rfen a”eE =1 A |

(o7 & =R o)

Price discrimination will be profitable
only when the monopolist finds that the
price elasticity of demand for his
product is different in different markets.

(Write True or False)
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Write short notes 00 80Y Jour of ¢ oo
0 OWH‘\S

(within 150 words €

(a)

(b)

(©)

(d)

(e)

3. (a)
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ach) :

e e RASTT

Cross elasticity of demanq

wiffs el

Economies of scale
JooR NI
Deadweight 1088

i R

Prisoner’s dilemma

siRwR 7 RSP A [ 32 wifza @
ffegrRel AP STy R
w11 T PI TRES rr-Gegers (T
(PCC) Y[RETTCOT A1 3]0 | 2+5+7=14
What do you mean by price elasticity of
demand? Explain the factors that
determine the price elasticity of demand
Describe the concept of price:
consumption curve (PCQC) with
appropriate diagram.
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4. (a)

(b)
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( 6 )
weqy /) O7
L [0 ST i 7 Grazers A
TN St et SFOES! AT ¥
> 2+12=14

. Consymer equilibrium? Explain
et e ey equilibrium with the help of
i g
rxdlfference P apprOaCh-

:mm TR sfener REA 27 SR @H
%m"‘m, SarEA SF FAZPE AT
b B 2+12=14

Wh .

Di S mastthe law of returns to scale?
s :

de Cuss. INcreasing, constant and
?reasmg returns to scale with the help

of isoquants

w7/ Or

m%mamﬁsamﬁ:f;=l4
SIS <537 | 7

Explain why the short-run average cost
and long-run gverage cOSt curves are
U shaped. Discuss wWhy 2 long-run
average cost (LAC) curve is flatter than
the short-run average cost (SAC) curve.
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’1‘13%7.’111'%'\51{@ TN Tores a
Tlefmm®  Toms = MY ETe

WWW,S”’R;% 1R f::;

M 2+12~14

What .d.o you kci’;eﬂn by  perfectly
competitive markets Exp o AR e
help of suitable diagram B Neerd sl
industry under Perfecy competition
attain equilibrium during o,

5<q1 / Or

7 RESTAT TETR T aryrady segomgz R
R v Rt M Wy, o o
BeoArAFRH  FT SRy v g g
o iR T, U0 3y 4+10=14
What are the neceSsary g, 4.0 0s for
price discrimination to pe successful?
Explain how & IONOpoligt §etermines

equilibrium price al.ld_ Output under the
policy of price disCriminatjq),

Foficeel T CPEPR R R o gt wfRq
EEe  FEREEO T Srony  wg-SBeem
fRefa 2AfFACoT IO I3 | 4+10=14
What are the characteristicg of oligopoly?
Explain the equilibriym price-output
determination PTOCESs in oligopoly with

the help of Cournot’s mode].
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